I have used TI WEBENCH® designs  to design a DC/DC TPS54531DDA

I'm getting different results when simulating Stability Analysis.
Once doing the simulation alone
Once when the tool offers me its stability components.
I inserted the components into my design, but I'm getting different results while simulating and when using the "Re Comp" tool
                I'm using 2 options for the feedback resistors. (2 feedback options)
         Vout = 5.25
         Vout = 4.00


The design has according to "Operating Values" DC Gain of 67[dB] and Phase Margin of 60[°] for Vout = 5.25[V]
The design has according to "Operating Values" DC Gain of 68[dB] and Phase Margin of 59[°] for Vout = 4.00[V]

Please see image below (For the case of 5.25[V])
[bookmark: _GoBack][image: cid:image002.png@01D2D21E.72A4CAE0]

Can I ask you to check that, and if so how can I point you to the Link?
If not here is an image of my design
[image: cid:image003.jpg@01D2D21F.B47A51A0]
Input Voltage = 24[V]
Output Voltage Option A = 5.25[V]
Output Voltage Option A = 4.00[V]
Current Consumption 3[A]
If any information is needed please advise.
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Categories [ Name Value Category Description
Cross Freq 7.3k Op_Point Bode plot crossover frequency
O current o17; Op_Point D1 junction temperature.
General Duty Cycle Op_point Duty oycle
Efficiency Op_Point Steady state eficiency
Op_Point | | Gain Marg 19.30848 Op_point Bode Plot Gain Margin
€T 70.degC Op_Point IC junction temperature
Power ICThetalA “odegem Op_point IC junction.to-ambient therma resistance.
Al 10UT_op 30008 Op_Point lout operating point
Low Freq Gain 67748 Op_point Gain at 10z
Phase Marg 60.0deg Op_Point Bode Piot Phase Margin
Vin_op 000V Op_point Vin operating point
Vout 0P 52500 Op_Point Operational Output Voltage
Voutp-p 40t8mv Op_point Peak.to-peak output ripple voltage.
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